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Summer Addition

Solve the following word problems.

John bought a summer hat for $8.50 and a pair of
sunglasses for $15.75. How much did he spend in
total?

Samantha made 2.5 liters of lemonade and 1.75
liters of iced tea for her summer party. How many
liters of drinks did she make in total?

During a summer sale, a beach ball costs $4.99 and
a beach umbrella costs $15.50. How much do they
cost together?

Tom bought a summer novel for $7.99 and a
magazine for $4.50. How much did he spend in
total?

At the summer fair, Emily spent $2.50 on a
lemonade and $3.75 on a hot dog. How much did
she spend in total?

A watermelon weighs 5.25 Ibs and a pineapple
weighs 2.75 Ibs. What is their total weight?

A swimming pool has 150.25 gallons of water. If
75.75 gallons are added, how much water will be in
the pool?

A summer dress costs $45.99 and the matching
sandals cost $25.75. How much will they cost
together?
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